Efficiency vs dr

0.5
0.45

0.35]

efficiency vs AR
=}
D

©
w

0.25
0.2
0.15
0.1
0.05

q-'- —=— DOM_VOUUL_] —Llopal —cmssw_RECO
M_V0001_R000000001__Global__mkFitOriginal _ RECO
M_V0001_R000000001 Global__mkFitNew

Ratio
lw)

Q
0.8+ | —— D8MWOOOl:ROOOOOOOOlTGIObaIAmkFltNeWU‘SiRECO

1078 1072 107t

0.6 -]

1
TP min AR

[ Efficiency vs dr (track,jet) |
§0.02

20.018F
E E
1.016f
9.014F
> C
9.012F
o r
o

2 0.01F
() r
0.008F
0.006F
0.004F
0.002

1073 1072 107t
AR(TP, jet)

Efficiency vs pu

50.05 : : ;
3 A R
S s e S S

e e e RS S -
) E : : : : :
®.035F------ P SN B S
= E : : : : :
CDO'OS;_ ------ E”-n-” Tedneeneees (RPEPPEVE SR N EPES: ERERRRS
0.025f -+ f- -+ - |
0.02F i+
0.015F-++---i-fe-f-i-

0.0
0.005F+++--F+{-- .1

JIRVs| ST

Ratio

| S 0 SRS s S S 0D I

0.95

60 70 80

o[
w
o
o
3]
o

0.%



	Contents
	Page 1


